
ggi70-3n, Bewertungsbogen: 5 und 9 Farbstufen, exp0=1, expg=1, inw=1, xchart=1

5/9 Farbstufen: Rot R00w − Rot R16w = Weiß W Rot R00w − Rot R16w = Weiß W

R00w R04w R08w R12w R16w N12w R00w R02w R04w R06w R08w R10w R12w R14w R16w

0,00 0,5? 1 / 0 0,5? 1,00 0,7? 0,00 0,5? 1 / 0 0,5? 1 / 0 0,5? 1 / 0 0,5? 1,00
visuelle
Skalierung:

Beurtei-
lungsanteil

Beurteil-
lungsanteil

0, 125, 250, 375, 500, 625, 750, 875, 1000

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00 0, . .

0,00 0, . . 1,00 0,00 0, . . 1,00
0,00 0, . . 1,00 0,00 0, . . 1,00

0,00 0, . . 1,00 0,00 0, . . 1,00
0,00 0, . . 1,00 0,00 0, . . 1,00

visuell
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